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WMIFEER AL ST EERA
A TTEE 3ERE AEFE #3% (R4-R3) k% (R4/R3) B (R4-R1) % (R4/R1)
45 935,866 A 760,442 N\ 792,088 A 31,646 A 104.2% I\ 143,778 A 84.6%
5A 957,145 A\ 707,479\ 822,491 N\ 115,012 A 116.3% A\ 134,654 A 85.9%
6 A 918,592 A 755,103 A 840,333 A 85,230 A 111.3% A\ 78,259 A 91.5%
A 969,757 A 806,444 N\ 830,244 N\ 23,800 A 103.0% A\ 139,513 A 85.6%
8 A 970,413 AN 628,892 A 793,168 A\ 164,276 A 126.1% N\ 177,245 N 81.7%
9A 904,036 A 640,981 A 782,801 A 141,820 A 122.1% A\ 121,235 A 86.6%
B 5,655,809 A 4,299,341 A 4,861,125\ 561,784 A 113.1% A\ 794,684 A\ 85.9%
(BA) P ~ ~
SHTTERE — ST EE w— SR04 —e=— [, (R4/R3) —8=— [t (R4/R1)
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116.3% (1R141/ gf}) (R4/R3) o
120 (R4/R3) =70 103.0% “ 120%
= (R4/R1) (R4/R1)\.. o7  (R4/R1) (R4/ Ri ) o
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(2)E&HINZE (BE - RENXXREEEKRL)
MIEER AL STEERA
A TTEE 3ERE AEFE #% (R4-R3) k% (R4/R3) BE (R4-R1) % (R4/R1)
4R 157,518+ M 126,018FH 135,182FH 9,164FM 107.3% N\ 22,336FH 85.8%
5H 127,679FM 91,804FH 107,638F M 15,834FHM 117.2% A 20,041FH 84.3%
6H 118,408+ 92,800FH 107,868+ 15,068FM 116.2% /\ 10,540FH 91.1%
TH 137,972+ H 110,389+ 118,887+H 8,498+ H 107.7% A\ 19,085F+H 86.2%
8H 148,866+ M 96,093FM 119,817+ 23,724FH 124.7% A\ 29,049FH 80.5%
9AH 129,514+ 88,045FH 106,222FH 18,177+HM 120.6% N\ 23,292FH 82.0%
B 819,957FH 605,149FH 695,614FH 90,465FH 114.9% A\ 124,343FH 84.8%
(B5) STTTEE SHI3EE SHAFE ~— —e—LE(R4A/R3) ——LtE(RA/RT)
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)= TTEE 3FEE AFRE i (R4-R3) tk= (R4/R3) i (R4-R1) k= (R4/R1)
48 514,601 A 417,689 A 433,999 A 16,310FH 103.9% A 80,602FH 84.3%
5H 543,631\ 392,276 A\ 443,364 N\ 51,088FM 113.0% A\ 100,267FH 81.6%
6H 504,237 A\ 410,443 N\ 461,512\ 51,069FM 112.4% N\ 42, 725FH 91.5%
TH 546,589 A 449,957 A\ 452 331N 2,374FM 100.5% A\ 94,258+ M 82.8%
8 A 516,770 A 335,224 A\ 433,530 A\ 98,306 F M 129.3% /A 83,240FH 83.9%
9H 477,543 N 346,657 A 430,366 A 83,709F M 124.1% AN AT 177+ H 90.1%
B 3,103,371 A 2,352,246 A\ 2,655,102 A 302,856FH 112.9% /\ 448.269FH 85.6%
(BA) SHTTEE w— SFISEE w— SFAEE —e=— R (R4/R3) —a— R (R4/R1)
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80 (R4/R1) 80%
(R4/R1) (R&/RD 01.5% (R4/R1) (R4/R1) CSg/ ﬁ;)
84.3% 81.6% 82.8% 83.9% 170
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W3EERA L ST EER AL
A TTEE 3ERE AEFE #3% (R4-R3) k% (R4/R3) B (R4-R1) % (R4/R1)
48 102,147+H 84.963FH 85,920FH 957+ M 101.1% N 16,227+H 84.1%
5H 85,834FMH 59,559+ 66,380+ 6,821FM 111.5% /\ 19,454 M 17.3%
6H 75,868+ H 60,492+ 67,337F+H 6,845FH 111.3% A 8,531+ M 88.8%
g=! 82,585FM 69,478 FH 73,192FH 3,714+ 105.3% /A 9,393FH 88.6%
8H 93,129F+H 59,465FH 73,390FH 13,925FH 123.4% A\ 19,739FH 78.8%
9H 82,899F M 57,623FH 67,015FM 9,392+M 116.3% /\ 15,884+ M 80.8%
B 522,462FH 391,580FH 433,234FH 41,654FH 110.6% /\ 89,228FH 82.9%
(BHMD SHTTEE STISERE STAEE —e—ttE(R4/R3) —e—ttE(R4/R1)
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(R4/R3) S 111.3% (R4/R3)
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1 OO (R4/R1 ) (R4/R1 ) (R4/R1 ) 1 Oooo
a5 86 s | 773% 88.8% 886% | 93 | 788% agl 808% :
80 83 80%
45 66 67 69 =3 67
R4/R1 60 59
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